
ar4
uuiln

,t
ton?1xt

dru:rtnr: ;ilinrla'or ordnr:riyr:dru

vt e^..";;-&#
:.o dddo dbsrb

flfl lFl lqdblo

t6o.: ErAqui'rur{$6s!3n-1-iu?.-stn::ulurirufiu-rion:-:u-lyrefni-!-otqriruurrfrfunr;!:-cntn
i1
f,uvrvriuuriryf, uiorn::rLtvu 16ou nqrinruu baub

tit u u'rvireiru:rrnr:1ua-rn'o ua cfiruflrv r uo:roa our u1u

vriold toeirdrrurrarirf,odrrinwrJ:vrrru airudqo d u: oslmo.b/r ro< ariud uo<

vrqninT uu bdbb rEai n6nniruduavuinr:uinn:rulurjrgfiuinn::rL1rnufin:rorurit,tuoBvrdlunr:
.!

rl:cnrnfiuilvriuurirgEuiorn::rtvra r,6ou vrqatnruu bdbb loerar r:ooredluarr:ruav t6uorio4a

[9lv] wvwv.pao.sisaket. go.th/i'lUAll!5itu

J4
n{DUUu',r[Yl0v151!Uavo01J0!r]rl0 L!

.,-az:14{
(ulu2llu: o:Yloflfl.lutr)

:orurtnowinr:liri:rhuft ria rJfif; :unmlmu

u r u no qrinr : uiu r: eiru o'.rx inai ccr nu

w



a.rrinr:uiur:drui.rr,lioniavrnr

:uyr tqr'oz

?uYr 24 [, 2562........

nu..'..............fl :.1.a. X...............

vrt u: oorr..uzr Ed drfnruU:v,rnr i , ,i"Oirii;';l, lrU:t,.
ouun:r:.,r,d o n1o,rn.i iry-"iili aL

L"d uqn6n.,uu ucur, G1A3rry,i
J--.--,.udorJ..-,St:0.i Hanr euavusnl:urnn::x luufutuiflnt:!lv]ufrn:uoruriruuodvrBlunr:u:vnrniuflcr!-uu

frgiuinn::dvrtr rfiounqainruu bcub

riuu rJa'on:cyl:rl ri':rarird'lu:rtnr: :-giatafi o uavr,rrjrulrudu

drr'd'urriru :rudofl6nrYrur{uacu3nr:uinn::rryrtn:uororil,'uoimdlunr:d:vnraduyrvru-su

rirgiuinn::duu r6ounqn6nruu bdbb lilu?u ben rnir
) u toa ^A - )n1rlraruvirllunitdlnfiriloiun- bb tiuu.]uu bddd lourlulun:cfl :tlivl urfi ra ni

uacrilnlu1ad (f,oliunJduurf,un:fl:r{nr:osr!finur ivurarani io'uuawinn::rr ntrn:v:rtuirgr!fi
:nrj:rn:vr:rr ru2{ n:r.J (oriui oc) n.rr. bdbb) loudlinmur{ruuriruraraniuavrvrnlulad

ulirtrfr (arut.) r urlrir un:roa ouRruariuTto.ladnrYruduavuinr:uinn::lyrttaduyrc rfi uu

rirgiuion::ulvra uavl#drrinrurlrc!rrurtu run:?iaou:.rnrro,ra6onTrur{uavuinr:u?-nn::r
J'frairunr:n:roaauqruartfiudr:,trlvr"ro-nriruac:vnrnfqiuinn::llvra iloluYufiainnirur{uav

J, ! - - -usn1:uinnt5rrfr rJ:vnran-uuirgtuinn::lhu dru?u,do Halru (dlurir6ouln:1nrJ bdd6( _

EalnrJ bdbb) uru

drrinrurJ:vrrru uo u6'r:rut'oar6nrirur4uavvinr:uinn::llutirgiuinn::ilvruyr'n:u
--- -.-- - r.t , I
01u riluuadrd [un1:u:cnlfiturrriauurgt=urinn::uhu lurfiounqrinrau baob oonornriryi
ur-nn::!hu riruru < o,ar, #od lfr1'aa#ruoiiud o dulrnr ucuu rfiuduhj :rua;r6uo
. : J,

ul'rfl lnlr.ra.iyta.iri'191? u

J<
t-r rE a ul r rf lohJ:o I : ru ua v 6 o rJfr uT datr.l

lJ0uaonn?1r.luu00

htth r^-'ir)
(ururotT iinni ru alsar)

frtirur u nr :;irfnlurJ:vlr ru

!rfl:trulurJ:c!r6u b

:. o bbbd oc(6(o !!as o bbbd boog/

16'll o bbgi m c(dbc,

--nmtrli
d*rilux
Onorin Ona*ro
D a{rmeir 0
0 narrmilmtl nar n fi!

0 ertaarorolu

o ialL oJtal onri.

? 6rI



ritru uronorinr:uirar:druisuinaEacrntr
-;-dr n{u!:ctl'tfu un.!tnu?nutlauu fltlaY

uEnr:uinn:: udq;tuinn::u1Yufr o:u

arqriruunf, rflunr:rJ:vnrnduvrvriuu

riryfiur"nn::dvra t6ou fl qfi 6n1uu bdbte

aonolnffuiuinn:: Yu iiruru < zualru

rfid srY'ruri{ud o dulnl ucuts riJudulil

-tfi oItJ:or:rluas6orJfl l.F uavriunr:udr

dtu:rtnr:lufiiriofl orlfr ti6oiohl

\r ./

$l)luur'
(u1{41? lnuuyl lJuu[6lxt tU)

rjn o'o n r: srun'rhJ rir ur rg n r :
tod fruxln bdbb

(uNu{!u r') ltuini)

,iJrldrrlrtrui1',!15 .rutirltt

lu lo.it---

6'. Ar b!^,T"
(u1{n aaoBal {sfrfrf)

rhnrhdrrinrlll aarriouuiuru dru{r?ls

(u r{ uvlul
:or doo liinr: u5ur: dlu i).111lfl : nu 1: lln l: llllu

rl6'oo.rdor:v?nt: ei'ru filv Sersiavrnu

vtl
/

{
(u'lullnut ot!tafilt'lu!u)

t0{lItunoffin]:ufl.tl,dlur{ m !J0l,fr1'nrtmu
/.

ulun0rRnr:u:'t{1: d?u0t 1afl,etutflu



:T udaH6nlioriua:uinr:u':-nnt:rdr:torqriruurBuslunr:rJ:!ni6duwtfiuuJrUiluinn::ulutr riounrla6nruu zsez

30/11/2559 30/rr/256211M toartoi uJrioa l'lnnflu1!'itr (FENAFEoalrlnl$rlurl! lah:rnob{ (Fbxofenadln.

Hydrochtorlde)

1 03010010

na0.! 400.00r) tiado luro 60 laeni! (1oo !ir) 30/tr/2s59

30/tt/2559na0! 950.002) iindo w1n l8o iaeniu (1oo 6n)
30/tt/2559 30/tr/2562ri$'n aorlririlrliaoa,u'rnilrFiride Tabteturfi uusrnaJl:l( (Finasteride)030100121

30/1r/2559 30/tl/2562nao! 695.50t) dolin nl]rer 1 ia6ni! (30 lifi)
30/11/256230/11/2559909.50z) rtsruin u]1o s lainfir (30 fiff)

30/11,/2559 30/rt/2s62riflr ruruiriurtriaon,u'rrinnou'rrfi (Loranta Tabtet)uraor{rru Inulstie! (Losartan potasslum)03010013

na0,t

na0!

30/11/2562nl1y2559t0n61:ll!1]PTS Pedicutar screv,/ Fixation - Bod System1 03020008

3A/11/2559

3oi11/2559

30/',\r/2562

30/1t/2562

1,177.00

|926.00

1) ri in !x1'l 50 laaoilr (3oo dr)

z) tinrio lurn 100 ia6n{rr (3oo dn)

Page I

&*rr nia na$1{n1:m :rmian{ra lJ:UX iurj:srna iurrirrorq

al

30/tt/2562

30/tt/2562

nao,r

2

Llnno!ir1!nllullllu

:suu#sliodradrftrua:Iawrrlnr:6nf,udr utull r,!186 urnnoa a1nt



03020008
Ja,

:suurnsatrnot2uiilnnuas [8fi 3a'l!nlu0ndufi a.l

a'rou Part Name Part Name (nrr*rlns)
uri':ariu

tiivqrzrdu)

fl61 (:?U vat)

dourira

tiivqrrzrf;u)

1 Spinal. Screw Titanium iu M.9 Size 4.0 X 25 mm lavvorun:co nduraa'rlu M.9 1u1o 4.0 X 25 fiaalllo: tu

2 Spinal Screw Titanium !u M.9 Size 4.0 X 30 mm laravorrn:lqnflur,ra"{i1r M.9 nxin 4.0 x 30 fraautfl5 tu 6,600.00

3 Spinat Screw Titanium llr M.9 Size 4.0 X 35 mm laucotun:vo nfluva"rir M.9 rulo 4.0 x 35 iaa$roi tu 6,600.00

4 Spinat Screw ltanium ix M.9 Size 4.5 X 25 mm lauvorun:confl1lva".rju M.s trro 4.5 x 25 iaelun: tu 6,600.00

5 SpinaL Screw Titanium ix M.9 Size 4.5 X 30 mm Inravorrn:vo nf,uraa"riu M.9 irulo 4.5 x 30 iiaeutn: tu

6 SpinaL Screw Titanium !u M.9 Size 4.5 X 35 mm lara:orrrLn:vn nduua'llu M.9 tu'rn 4.5 x 35 fia6urtri tu

7 5pinal Screw Tltanium iu M.9 Size 4.5 X 40 mm lavvoun:vo ndrr,ra"riu M.9 tulo 4.5 X 40 iaauin: UU 6,600.00

SpinaL screw Titanium !u M.9 Size 5.5 X 35 mm Iarvnrln:vgndrudriu u.9 turn 5.5 x 35 iaaurn: tu 6,600.00

Spinal Screw litanium !u M.9 Size 5.5 X 40 mm. Iaravorln:uqnduud.rju u.e turn 5.5 x 40 fiaeLlni 1U 6,600.00

10 Spinal. Screw Titanium iu M.9 Size 5.5 X 45 mm Iaravorun:vqndur,ta"rlu M.9 turo 5.5 x 45 fiaerlelr UU 6,600.00

11 Spinat Screw litanium !u M.9 Size 5.5 X 50 mm Iavvorrn::o ndurad'lju M.9 ru.ro 5.5 X 50 !-aaur0t5 tu 6,600.00

12 Spinat ScIew litanium !u M.9 Size 5.5 X 55 mm layvorr:n:vonduua'r{u u.l turo 5.5 x 55 iaAurni 0u 6,600.00

13 Spinat Screw Titanium iu M.9 Size 6.5 X 35 mm. laygorrn: ndur,laliu M.9 1,u'ro 6.5 x 35 ia6rlJo: lJU 6,600.00

14 SpinaL screw lttanium !u M.9 Size 6.5 X 40 mm lavvqrun:uo nduraa'.riu M.9 ru'rn 6.5 x 40 na6$isli tl.J

15 Spinat Screw l-itanium iu M.9 Size 6.5 X 45 mm lavrflrun:co nduva".riu M.9 r1rio 6.5 x 45 iaawsls 0u

16 Spinat Screw Titanium jl M.9 Size 6.5 X 50 mm. tauvnrun:condullaliu M.9 t!1o 6.5 x 50 iaeutflr lJ1l

Spinal Screw Titanium iu M.9 Size 6.5 X 55 mm. Iauvoun:rqn6'uraa".r ju M.9 tlro 6.5 x 55 iaeulnr 0u 6,600.00

18 Spinal Screw Titanium M.9 Size 7.0 X 35 mm lar,tgorrun:vonduud.t M.9 lju'rer 7.0 x 35 iaalr]o: lJU 6,600.00

19 Spinal Screw Titani um larvoun:vq1nf,uua"r! u M.9 ru'ro 7.0 x 40 fiaAtlel: lJU 6,600.00

20 Spinal Screw l-ltanium !u M.9 Size 7.0 x 45 mm laravor!n:conduva"l u M.9 lru'ro 7.0 X 45 iaaurt\: tu 6,600.00

Page 2

tllllu tltn

6,600.00

6,600.00

6,600.00

8

9

6,600.00

6,600.00

6,600.00

l7

M.9 Size 7.0 X 40 mm.



03020008 :ruulaio.riiori?ueireYnuaclaucorrn:vqn#uudr

E',la! Part Name Part Name (nrrr{ru) tl!?0uu

fiiuzqozrdul

:1i'r (:?! vat)

riorniru

tiuzlvrdul
$lllu114n

21 Spinal. Screw Titanium iu M.9 Size 7.0 X 50 mm. lalruoun:uqnduradrlu t',1.t urro 7.0 x 50 iaeun: iu 6,600.00

22 Spinal. Screw Titanium iu M.9 Size 7.5 X 35 mm. lauvorrn:vnndrradriu M.9 lxlo 7.5 X 35 iaelr]nt iu 6,600.00

23 Spinal. Screw litanium !u M.9 Size 7.5 X 40 mm. Iaravorln:vqnduraa"riu M.9 turo 7.5 X 40 iaarrln: tl.J 6,600.00

24 Spinat Screw litanium iu M.9 Size 7.5 X 45 mm lar,lcorrin:condtrrdl{u u.l ruro 7.5 x 45 inauinr t1l 6,600.00

25 Spinat Screw Titanium iu M.9 Size 7.5 X 50 mm Iauvorun::qnduudrlu u.l turo 7.5 x 50 iaelrrnr tu 6,600.00

26 Spinal Screw lltanium iu M.9 Size 8.0 X 40 mm. lawnrrn:rqnfluua"rlr M.9 turo 8.0 x 40 iaaunr tu 6,600.00

Spinal. Screw Titanium ir M.9 Size 8.0 X 45 mm Iauyorrn:rqnduraa'liu u.l turo 8.0 x 45 rl'aauro: Eu 6,600.00

28 Spinat Screw Titanium iu M.9 Size 8.0 X 50 mm. Iarayorrn:rqnf,uudliu u.e turn 8.0 x 50 ia6!:lel: tu 6,600.00

29 Spinal Screw Titanium i! M.9 Pitch 2.5

Size 5.5 X 35 mm.

Iaucoun:condrua".:!r u.e fivni z.s turo 5.5 x 35 iaaurfl: tu

30 Spinat Screw Titanium !u M.9 Pitch 2.5

Size 5.5 X 40 mm.

lavcorln:unndur4ft{u u.l firri 2.5 ruro 5.5 x 40 iaeulori nu 6,600.00

3t Spinat Screw lltanium iu M.9 Pitch 2.5

Size 5.5 X 45 mm.

lauvoun:vqn{uua-lju u.e fivni 2.5 1,!1n 5.5 x 45 iaAlln5 lJLl 6,600.00

32 SpinaL screw ltanium iu M.9 Pitch 2.5

Size 6.5 X 35 mm.

laravorrun:vqnduraa"'riu u.e fivni 2.5 rulo 6.5 x 35 iaeurn: 1U 6,600.00

Spinal Screw lltanium itt M.9 Pitch 2.5

Size 6.5 X 40 mm.

laucor:.in:gon#uudriu u.l f,vld z.s turn 6.5 X 40 !a6u:sr: tu 6,600.00

Jq laravorun:vqna'uua'llu u.e ivrd 2.5 lruln 6.5 x 45 fiaAurn: 1U

Page 3

27

6,600.00

55

Spinat Screw Titanium iu M.9 Pitch 2.5

Size 6.5 X 45 mm.

6,600.00



03020008
Ja,

tluurfr :Ertrroi2urJlnntlac la cnl!n:!iniiuuds

Part Name Part Name (nT r*rlyu)
:1n1 (:?rl vat)

iourira
tiiryr{yrdu)

lllllutrn

Spinal Screw Titanium iu M.9 Pitch 2.5

Size 6.5 X 50 mm.

laucorun:cnn{uya'lju rr,,t.e fivrri 2.5 ruio 6.5 X 50 iaeun: 0u 6,600.00

36 spinal. Screw Titanium iu M.9 Pitch 2.5

Size 6.5 X 55 mm.

larcnrun:vnndurallu tr,l.e fivni 2.5 rulo 6.5 x 55 iaeuro: gu 6,600.00

37 Spinat Screw Titanium it.l M.9 Pitch 2.5

Size 7.5 X 40 mm.

Iavunrrn:vqndurallu u.e f,rni 2.5 i,u.)n 7.5 X 40 iaauret: il 6,600.00

38 Spinal Screw litanium il M.9 Pitch 2.5

Size 7.5 X 45 mm.

Iaracnun:cflndu d.:!u tr,l.e f,rni z.s tum 7.5 x 45 fiaautn: t! 6,600.00

39 Spinat Screw Titanium iu M.9 Pitch 2.5

Size 7.5 X 50 mm.

Iaurorun:condlxd.:iu u.e fivrri z.s ,uu'10 7.5 x 50 iaeuJnr tu 6,600.00

40 Spinat Screw Titanium iu M.9 Pitch 2.5

Size 9.0 X 40 mm.

Iaruorln:rqndlua'riu v.r fird z.s tuln 9.0 x 40 laaun: il 6,600.00

41 Spinal Screw Titanium {u M.9 Pitch 2.5

Size 9.0 X 45 mm.

lavcoun:cnndu a'l!u u.l find z.s tuln 9.0 X 45 iaauer: t1.l 6,600.00

Spinat Screw Titanium iu M.9 Pitch 2.5

Size 9.0 X 50 mm.

laravnrun:vqnduradllu u.e fivrri z.s turo 9.0 x 50 iaauni t1.l 6,600.00

43 Spinal Screw Titanium Reduction iu M.9

Size 4.0 X 25 mm.

-a-,t ,

Lauvnun:cnnduua.::ontu llJ M.9 tJlJ'tn 4.0 X 25 !aaH05 tu 6,600.00

44 Spinal Screw Trtanium Reduction iu M.9

Size 4.0 X 30 mm.

Iarvorln:cnndlfidGn"nriu ju M.9 ru.rfl 4.0 x 3i0 iaa IUnS iu 6,600.00

45 Spinat Screw Titanium Reduction itJ M.9

Size 4.0 X 35 mm.

lavvonLn:gnndlua'.:5o-ntJu iu u.I tr.nn o.o X 35 ia6u:o: tu 6,600.00

Page 4

R'I'U rriruriv
<iv1vrfirl

42



03020008 "Ia,:cuulRia{rl0t?u&1nntlagla c9l!nlJinduua.!

a'lnu Part Name Part Name (nlnlnu) mr?oulJ

{iiuzqazrdul

tlil (l?! vat)

ioyiru
<iitvqurf,ul

$ltlutrn

46 Spinat Screw Trtanium Reduction iu M.9

Size 4.5 X 25 mm.

Iaracorln:conduua-{ir"*iu iu t,t.s nu'n 4.5 x zs ia6urn: iu 6,600.00

47 Spinat Scre\r, T'itanium Reduction iu M.9

Size 4.5 X 30 mm.

Iar.rvnrln:;qnfluua'rin'miu iu u.r ruo 4.5 x 3o !a6crn: t1.l 6,600.00

4A Spinat Screw lltanium Reduction'iu M.9

Size 4.5 X 35 mm.

lara:nrln:cnnduudGrYndu iu N,1.s ru'ro 4.5 x 3s laiusr: tu 6,600.00

49 Spinat Screw Titanium Reduction iu M.9

Size 4.5 X 40 mm.

lnr.rcorrln:gnnduudiiri'n{u iu u.q flrlro 4.5 x 4o ia6un: 0u 6,600.00

50 Spinat Screw l-itanium Reduction iu M.9

size 5.5 X 35 mm.

lauvorrr:n:vqnduudGd'ndu il u.e urln 5.5 x 35 iaiufl: 0u 6,600.00

51 Spinat Screw Titanium Reduction iu M.9

Size 5.5 X 40 mm.

laracorun:vonduvdlidndr.r iu la.s rurn 5.5 X 40 iaaurel: tu 6,600.00

at Spinat Screw lltanium Reduction iu M.9

Size 5.5 X 45 mm.

lar4gnrrn:vflnduua'{iri'ndu iu t,l.s rurer 5.5 x +5 iafiurfl: tu 6,600.00

53 SpinaL Screw Titanium Reduction 'iu M.9

Size 5.5 X 50 mm.

!u 6,600.00

54 Spinat Screw Tltanium Reduction iu M.9

Size 5.5 X 55 mm.

tu 6,600.00

55 Spinat Screw Titanium Reduction iu M.9

Size 6.0 X 35 mm.

laycnlun:cnnduyalio'n& iu M.9 rulo 6.0 x 35 iaeuJns 6,600.00

56 Spinat krew Tltanium Reduction itl M.9

Size 6.0 X t10 mm.

tavcorun:cfln*rrraa-Ga'miu iu rr,r.s rulo 6.0 x 40 iaauJn: tu 6,600.00

Page 5

laracnrln:carnfluua's3o'ndu iu lirl.s ?x1o 5.5 X so ia6ufl:

lavcorrn:carnduea'.rid'ndu ir M.9 ruin 5.5 x 55 iaeulqt:



03020008
)a'

rluurnEo{iiori?uri1i'iuavl8 vnlunrsinf,uildr

nlru Part Name Part Name (nflrrlvro)
uriruriu

tivlvrdll

tlil (:?! vat)

riou ru
duzqvriul

t,l gtfi,

57 Spinat Screw Tltanium Reduction iu M.9

Size 6.0 X 45 mm.

Iawoun:vqnduua\id'ndu !u M.9 1ru'ro 6.0 x 45 iaeurn: tt.,l 6,600.00

58 Spinat Screw -tltanium Reduction iu M.9

Size 6.0 x 50 mm.

laracnrsrn:conf,1lra'Gcindu iu tvt.e luln 6,0 x 50 iaiurn: du 6,600.00

Spinat Screrv Titanium Reduction i! M.9

Size 6.5 X 35 mm.

Iaravorun:vqndua'rioYndu iu tu.e num 6.5 x 3s iaiun: TU 6,600.00

60 Spinat Screw Titanium Reduction'iu M.9

Size 6.5 X 40 mm.

laravorun:conduua''riri'ndu iu M.9 rulo 6.5 x 40 iaAun: 0u 6,600.00

SpinaL screw Titanium Reduction iu M.9

Size 6.5 X 45 mm.

0u 6,600.00

62 spinat screw Titanium Reduction iu M.9

Size 6.5 X 50 mm.

Iawoun:;qnduna".rin'nt'u ir M.9 nuro 6.5 x 50 iaaurn: tu 6,600.00

63 Spinat krew Titanium Reduction ju M.9

Size 6.5 X 55 mm.

larvnrrn:vqnduualia'ndu iu rvr.r rrum 6.5 x 55 !a6un: iu 6,600.00

64 Spinal Screw Titanium Reduction iu M.9

Size 7.0 X 40 mm.

Iauuorrn:vqndu'vr6'Go"ndu iu M.9 rr.no 7.0 X 4o laiusr: tu 6,600.00

65 Spinat Screw Titanium Reduction iu M.9

Size 7.0 X 45 mm.

Iaravorrn:rqnduudGar"n{u !u trl.e rulo 7.0 x 45 iaeurq: !u 6,600.00

66 Spinal Screw Titanium Reduction iLJ M.9

Size 7.0 X 50 mm.

Iawoun:aqnduradGrYndu iu M.9 'tru1o 7.0 x 50 iaeuro: tu 6,600.00

67 Spina( Screw litanium Reduction ir M.9

Size 7.5 X 35 mm.

laravorrn:vqndundririndu iu m.e rulo 7.5 x 35 iaaurq: tu 6,600.00

59

61 laravoun:son{uraariri'nd'u iu M.9 ruio 6.5 x 45 ia6lrnr

Page 6



J{'
lsuuralo.urot2uHlnnuRJtR Jnl!ntJ?nfl uua{

Part Name

flAl (:2! vat)

iolrrira
tiiuz'4Vrdul

t4!l1utl4,

68 Spinat Screw Titanium Reduction iu M.9

Size 7.5 X 40 mm.

laravnrun:vqnduud.ri6'nrtu {u u.l rulo 7.5 x 40 iaaun: iu

69 Spina( Screw Tltanium Reduction iu M.9

Size 7.5 X 45 mm.

lnravoun:vgnduradlid'ndu !u m.l ruln 7.5 x 45 iaaun: !lt 6,600.00

70 Spinat Screw f-itanium Reduction i! M.9

Size 7.5 X 50 mm.

laucnrrrn:cnndur,rrf,'.:irf,'ndu iu M.9 rum 7.5 x 50 iaeuJn: iu 6,600.00

7t Spinat Screw Titanium Semi Open iu U.l
Size 6.5 X 40 mm.

laravnrrn:rqnduraa'.:ltilauiu iu M.9 irulo 6.5 x 40

!adurn:
tll 6,600.00

72 Spinat Screw l-rtanium Semi Open iu M.9

Size 6.5 X 45 mm.

Iar:nun:vqnduua"rrtilosiu iu I'a.l turo o.s x cs

iiadurn:
tu 6,600.00

73 Spinat Screw f itanium Semi Open !u U.l
Size 6.5 X 50 mm.

Iaravnun:vqndurla'lrsllor u iu u.l turrr o.s x so

ia6rrlnr
t1.l 6,600.00

74 Spinat Screw Tltanium Semi Open ir M.9

Size 7.0 X 40 mm.

tnravnrln:utrnduudlrdlawiu iu u.l turn z.o x 4o

iia6urn:

tu 6,600.00

75 Spinal Screw T]tanium Semi Open iu l/.l
Size 7.0 X 45 mm.

lar,tcnrln:ronfluya'.rrdloniu ir M.9 rurn 7.0 x 45

ia6uro:
0r

Spinat Scre Titanium Semi Open ir M.9

Size 7.0 X 50 mm.

Iawnrln:uqnduraa'.:rtilouir iu M.9 nuln 7.0 x 50

iaiurn:
iu 6,600.00

Spinal Screw l]tanium Semi Open iu l/.l
Size 7.5 X 40 mm.

,i', 6,600.00

18 Spinat Screw Titanium Semi Open 'iu U.f
Size 7.5 X 45 mm.

lauvnrrn:vqnduna'.rnilor{u iu t',t.1 turn Z.S X CS

iiahurn:
tLt 6,600.00

Page 7

03020008

EliU Part Name (ntnlns) nriruriu

drYqnzdul

6,600.00

6,600.00

76

77 Iaracnrln:condu dllruloniu iu M.9 1,u10 7.5 X 40

!aa'r:Ln:



rvuuraio{fi ad'rueirn'ouaslnucarln:vlnduradl

aliu Part Name Part Name (nrtnlvu)
:1a1 (:?! \rat)

do'nr.iru

(fiyr{yrdu)
1l!l'turlt,

79 Spinat Screw 'l'itanium Semi Open {u la.l

Size 7.5 X 50 mm.

Iaurnrln:vqnduudrnilouiu {u la.l rurn z.s x s0

!a6un:
tu 6,600.00

80 Spinat Screw 'l-itanium Hua Det iu M.9

Size 4.0 X 30 mm.

Iarrnun:vgndrua".nr'rrdn iu u.l nmn 4.0 x 3o iaa'urn: iu 6,600.00

81 Spinat Screw 'lltanium Hua Det i! M.9

Size 4.5 X 25 mm.

lau:nrun:vgnduudrri'rr6n ju M.9 r,urn 4.5 X 25 iaAurn: iu 6,600.00

82 Spinat Screw Titanium Hua Oet ir M.9

Size 4.5 X 30 mm.

larrnun:aqndurldoilrdn iu M.9 r,um 4.5 x 3o ia6uLn: iu 6,600.00

83 Spinat Screw Titanium Hua oet iu M.9

Size 4.5 X 35 mm.

lawnun:v4ndrua"$':rdn'iu tvt.l fl1n 4.5 x 35 iaaun: tu 6,600.00

84 Spinat krevr ltanium Hua Det iu M.9

Size 4.5 X 40 mm.

lar.rvnrun:vqnduua'lfirr6n iu l,t.e flm 4.5 x 40 iaaurn: iu 6,600.00

85 Spinat Screw Titanium Hua Det iu M.9

Size 5.5 X 35 mm.

lawnrrn:;qndrmdni:r6o iu u.e firln 5.5 x 35 iaauJnr iu 6,600.00

86 Spinat Screw Titanium Hua Det iu M.9

Size 5.5 X 40 mm.

lau;nun:vqndwa'lra"rr6n iu u.e rrurn 5.5 X 40 laauJn: ir 6,600.00

87 Spinat Screw Trtanium Hua Det iu M.9

Size 5.5 X 45 mm.

laravnrun:uqndlndlra"rr6n iu l,t.l nuln 5.5 x 45 !a6ujn: ii, 6,600.00

88 Iawolrn:vqndura"lu"rrf,o iu u.l tuln 6.5 x ls ia6urn: tl

89 Spinat Screw Titanium Hua Det iu M.9

Size 6.5 X 40 mm.

hrrnrrn:vqndua'lr,l-rr6n !u ttl.r urlo 6.5 x 40 iaauJo: iu 6,600.00

Page 8

03020008

nriruriu

tdvlurdu)

Spinat Screw Titanium Hua Det iu M.9

Size 6.5 x 35 mm.

6,600.00



03020008 rsuut6io{iod2u airdauas1arvnrln:u4n#ur,tdl

u!lrJtxq
:'li1 (11! vat)

ior,rriru

tiur'4nZdu)

vu2Uuu

t{uZr4rZrdulaliu
6,600.00

lar,tvorrn':vqndvua"lrir -6, iu r'a.l u]'to 6.5 x 45 iaaurtr:
Spinat Screw ']-ltanium Hua Det

Size 6.5 X 45 mm.

iu M.e
90

6,600.00
lavcorrln:conduud':lir r6n ir r'a.l w1n 6.5 x 50 iaauor

Spinat Sctew Titanium Hua Det

Size 6.5 X 50 mm.

iu u.r
97

6,600.00
lar,lcor!n:vone'!ud':r'r 16o ju riil.e tu, o 7.5 x 40 aauot

Spinal Screw Titanium Hua Det

Size 7.5 X 40 mm.

iu t',1.e
92

6,600.00
duadrrirrdo ju M.9 tlu,o 7.5 x 45 iaino:lar,tuorun:vqn

SpinaL Screw Titanium Hua Det

Size 7.5 X 45 mm.

'iu m.e
93

6,600.00u
na'urad'.:r,t'r rd o aai!9150 u71u X.59[4 'uulutar,l!o1ufl5J0

Spinat Screw Titanium Hua Det

Size 7.5 X 50 mm.

ilJ M.e
94

4,200.009on!nl1 1uysfll^
Locking Nut Trtanium iu M.995 4,200.00

lua.l 9lvlnylLnoaau!!ndur,tolll fllar,r 9l9MHua Detrun mTlta luUNckiLo ng 650.00rau
uvi$avcor!n:v duva'.r L1la 0545X !a0,l 05u lJU9I

Rod Titanium lu97 650.00{ 5tllnaa50 1lX059N4 uu19lnduua'l't1lflAMU lu
Rod Tltanium 1u M.9 Size 5.0 X 50 mm.

650.00L6Uduvdryifa n5a$JljaX 600,l 059 111n1!ntl lxon
Rod fitanium ltl99 970.00tauflauvllvl

tlro57 aa0 }]05.9i,4 1l'101lannduv'ulfl fl5J :u,l
Rod T'itanium Iu M.9 Size 5.0 X 70 mm

100 970.00lauIduva'rvi{a 05au]l.l a05 80X'tiu9 o,lMuflyv0'l!u nSuu
Rod Titanium ju Nn 9 Size 5.0 X 80 mm

101 970.00laUiuItvl .:lar,lv x0 9010'UU9fl nauv1un 0l
Rod Titanium iu M.9 Size 5.0 X 90 mm.

taul]aandur,ldruvi{a :Llln1 00X5o 09M 1'U',lu1u0r n1'- 5vo
Rod Titanium lu103 1,290.00Lau:ua.luriilavc o:11 u0 Llraa0,l 05 X1JU9ndur,tn9r'ul ou M.9 Size 5.0 X 110 mmRod Titanium 1104 1,290.00rau

uviilaucor! IX 2051.1'lFr 09M Induva'.r :u
hod Titanium !u M.9 Size 5.0 X 120 mm.

Page 9

Part Name (nrtntnu)
Part Name

96

M.9 Size 5.0 X 45 mm
Lau

98

M.9 Size 5.0 X 60 mm.
X

ia6uo:
t02 1,290.00

M.9 Size 5.0 X 100 mm.

ia6un:
105



03020008
)a,

rsuu[6io{!ot2uHlniua! ta ufil!n:!rn8uua{

aliu Part Name Part Name (nr8' xu)
nriruriu

fdrYr{Yrdul

tlfi1 (r?! vat)

donriru

t{rv'4vrdu)
xululxrl

106 Rod Titanium {u M.9 Size 5.0 X 130 mm. uri$aucntrn:rqnduraa'r ir lit.l turn 5.0 x 130 iaalln: laU 1,610.00

107 Rod 
'lltanium 

!u M.9 Size 5.0 X 140 mm uvi{auvoun:vqnduva".r iu la.e rrrn 5.0 x 140 iaelrloi t61r 1,610.00

Rod l'ltanium !u M.9 Size 5.0 X 150 mm. uvi.:Iaravorun:uqnfluraa'l iu M.9 turo 5.0 x 150 iaauo: ta! 1,610.00

Rod Titanium iu u.e Size 5.0 X 160 mm uyi{aycorln:vondur.rdl iu u.9 turo 5.0 x 160 iaAlrin: Lau 1,930.00

110 Rod Titanium !u u.e Slze 5.0 X 170 mm. uvi.rlaruorln:vqnduxa'i iu M.9 tuln 5.0 x 170 iaArrro: tau 1,930.00

111 Rod Itanium iu tu.e Size 5.0 X 180 mm uvi{aruorun:vqndrxd.! iu M.9 wlo 5.0 x 180 iaarn: tau 1,930.00

ttz Rod Titanium ir-r t l.l Size 5.0 X 190 mm uvi{ararnun:;qnf,uxa"i iu M.9 x!1fi 5.0 x 190 iaauJflr lar 2,250.00

113 Rod Titanium !u M.9 Size 5.0 X 200 mm uvi$ararnun:rqndur.ra'.r iu u.e tura 5.0 x 2oo iaaunr ta1'l 2,250.00

114 Rod Titanium iu M.9 Size 5.0 x 300 mm uvi{auvorun:vqnduua"l !u u.e turo 5.0 x 3oo iaeuo: tau 8,000.00

115 ' Rod Titanium iu M.9 Size 5.0 X 400 mm uvi{aracnrln:vonduradr iu u.g ruro 5.0 x 400 iaaunr Ldu

116 Rod Titanium {u u.e Size 5.5 X 45 mm. uvi':Iauvntrn:vqnduraa'r !u u.l turo 5.5 x 45 iaarrlo: LAU 650.00

717 Rod Titanium iu M.9 Size 5.5 X 50 mm. rwi.rlauuorln:vqnduxa',! iu M.9 nurn 5.5 x so iaiurn: taU 650.00

118 Rod Tjtanium !u U.l Size 5.5 X 60 mm wi{aravnrr:n:rqndur.ral !u u.l ?urn 5.5 x 60 iainn: la1.r 650.00

tL9 Rod Titanium iu l/.l Size 5.5 X 70 mm uvi$ararnun:;qnduraa'r il M.9 ruin 5.5 x 70 iaaun: L6U 970.00

120 Rod Tltanium iu trrt.l Size 5.5 X 80 mm. uri':Iav;orr:n:rqnfluua"l iu u.e rulo 5.5 x 80 iaauJn: rau 970.00

121 Rod l-itanium iu M.9 Size 5.5 X 90 mm uvi{aravoun:vqndrrad': !u u.e ruio 5.5 x so laitrrn: tdu 970.00

122 Rod lltanium !u tr,l.e Size 5.5 X 100 mm uyi{aracnrln:conf,uua'r !u M.9 turo 5.5 x 100 iaeun: Lau 1,290.00

tl) Rod Titanium !u tr,,l.l Size 5.5 X 110 mm uvi{auvorrn:vqnduraa"r {u M.9 turo 5.5 x 110 iaauor tau

124 Rod lltanium !u v.l Size 5.5 X 120 mm. uvi{aurotrn:;qnduraa'r iu u.l turo 5.5 x 120 iaattLolr tal,J 1,290.00

125 Rbd Titanium !u t',1.1 Size 5.5 X 130 mm uvi{aworun:vqnduraa'r iu la.l rulo 5.5 x 130 ia6urn: 1,610.00

Page 10

108

109

8,000.00

1,290.00

IaLl



03020008 :ruurhi0{iori2udrn'rruaclaucarun:v6nduudr

81ilJ Part Name Part Name (nrurlnu)
urirtriv

tiirvqazrdu)

:1fi1 (:2! vat)

rianriru
(dvlaurdu)

I lt) Rod Titanium iu M.9 size 5.5 X 140 mm. uyi{tallvorrtn:condlrvdr ir.r u.g rxio 5.5 x t+o iaf,Hn: 1,610.00

t?7 Rod Titanium iu la.e Size 5.5 X 150 mm uyi{aravnun:conduua''r ir.r u.e wro 5.5 x 150 iaalro: tau 1,610.00

128 Rod Tltanium iu M.9 Size 5.5 x 160 mm uri.rlauvorrn:vqnduudl ju la.l nuro 5.5 x 160 iaaLrrnr tau 1,930.00

t29 Rod Titanium !u ttt.l Size 5.5 X 170 mm. uri{aravoru:uqnduua'.r iu u.l nuln 5.5 x 170 iaerrrn: ta! 1,930.00

130 Rod Tltanium iu M.9 Size 5.5 X 180 mm. uri$aravnrln:vqnduud.r !u u.e wln 5.5 x tao laiurn: tau 1,930.00

13t Rod Titanium !u u.l size 5.5 x 190 mm. uvi{aycorln:conduraa'.r !u M.9 rLr1n 5.5 x 190 laaufl: Lau

132 Rod Titanium iu M.9 Size 5.5 X 200 mm. uyi$aracorun:snnduva"r iu M.9 rx'rer 5.5 x 2oo iaeurfll Iau 2,250.00

t33 Rod Titanium !u M.9 Size 5.5 X 210 mm. uvi':lauvnun:vqnduraa'l !u M.9 rulo 5.5 x 210 iaaurnr i6u 2,250.00

134 Rod f itanium iu U.l Size 5.5 X 220 mm. uvi.rlaucnrln:conduraa'l iu t',t.1 lura 5.5 X 220 iiaaun: r6u 2,570.00

135 Rod Titanium iu u.l Size 5.5 X 230 mm uvi{a vorln:condur.ral !u M.e luio 5.5 X 230 fiaellto: tau 2,570.00

136 Rod Titanium 'ir l,l.e size 5.5 X 240 mm uvjrtar4corrn:vonflur,tdr iu u.e r:uro 5.5 x 240 iaauror ta! 2,570.00

137 Rod Titanium iu M.9 Size 5.5 X 250 mm uri$aruorrn:cqnduraa'.r !u u.l turo 5.5 x 250 iaeu.Jn: rau

138 Rod litanium 'iu la.l Size 5.5 X 260 mm ui{auuor:rn:vgnduradl ir u.r ruln 5.5 x 260 iaaun: L6U 2,890.00

139 Rod Titanium 'iu M.9 Size 5.5 X 270 mm uri.:laravoun:vqnduual !u u.e !u1n 5.5 x 270 iaauinr tau 2,890.00

140 Rod Titanium iu M.9 Size 5.5 X 280 mm uvi{ara;nrun:vgndrradr iu u.9 turn 5.5 x 280 iaauln: tar 3,210.00

14 1 Rod Titanium !u t/.e Size 5.5 X 290 mm uvi.rlauvarln:vq1nduua".: iu M.9 turo 5.5 x 290 iaauro: lau 3,210.00

142 Rod Titanium iu M.9 Size 5.5 X 300 mm uvidaurnrun:rqndur,la-r !u M.9 turo 5.5 X 300 iaar!n:
143 Rod Titanium iu M.9 Size 5.5 X 400 mm uri. au;nunrvqlnduua'l ju M.e turn 5.5 x 400 iaaurn: lau 8,000.00

144 Rod lltanium iu tr,t.l Size 5 - 3 X 200 mm. uyi{alrcorrrn:rnndura'r il l,4.e turo 5 - 3 x 200

!a6urn:
tau 3,700.00

Page U

xrllurxl

La!

2;250.00

2,890.00

tau 8,000.00



03020008 r!uurniB{ioriiueirdrttaclailsnrun:vqn{uua'l

ririu Part Name Part Name (nrvrluu) niruriu
tCrvqvdut

tlil (r'l! vat)

iorniru
tduzlvrdut

1/lrl10lx9l

145 Spinal Screw Titanium iu M.10 Size 4.5 x 25 mm laralnrln:vqndum'liu u.to turo 4.5 x 25 iaauJn: iu 6,600.00

t46 Spinat Screw litanium iu M.10 Size 4.5 X 30 mm Iauvorun::qndur*lu M.1o nu'ln 4.5 X ao !a6r:Ln: 0u 6,600.00

147 Spinal Screw Titanium iu M.1O Size 4.5 X 35 mm laravnrln:rqnduraaiiu u.to tu'lo 4.5 x :s iaa^un: tu 6,600.00

148 Spinat Screw l'itanium {u M.10 Size 4.5 X 40 mm laravorrn:rqnfluradriu I',4.to rruio 4.5 x qo iaiuto: 0u 6,600.00

\49 Spinat Screw Titanium ju M.10 Size 5.5 X 35 mm Iar,r:oun:vgnduraa-rlu trl.ro tu,tn 5.5 x a5 !a6un: 3u 6,600.00

Spinat Screw Tltanium iu M.10 Size 5.5 X tlO mm. Iaucor!n:vtl nduradriu M.t0 ?u1n 5.5 X 40 iaalt]er: tu

151 Spinat Screw Titanium iu M.10 Size 5.5 X 45 mm lar,tvnun:uqndur,ra'riu u.to ruln 5.5 x 45 iaiun: f,u 6,600.00

t)l Spinat Screw Titanium !u M.10 Size 6.5 X 35 mm larvorrn:r8nf,urd.rlu u.to tu'tn 6.5 x 35 ladurn: 1U 6,600.00

153 Spinat Screw Titanium iu M.lO Size 6.5 X 40 mm lara:nrrn:vgnduraa'.riu tr,l.to unn 6.5 x 40 !a6urn: tu 6,600.00

Spinat Screw Titanium iu M.10 Size 6.5 X 45 mm lallrnrun:aqnduraa'rlu u.to {u'1fl 6.5 x 45 fiaiun: iu 6,600.00

155 Spinal Screw Titanium il M.1O Size 6.5 x 50 mm Iaravorrln:conduva'.riu M.1O tuln 6.5 X so iaauLq: 0u 6,600.00

Spinat Screw Titanium iu M.1O Size 7.5 X 35 mm. lavvnrun:cnnduralju M.tO tu'ln 7.5 x 35 iaeNrr: 0u 6,600.00

157 Spinal Screw Titanium iu M.lO Size 7.5 X 40 mm lnrrnrrn:vgnfluraa'riu u.to tu1n 7.5 x 40 iaa-u.rqr 0u 6,600.00

158 Spinal. Screw Titanium ju M.10 Size 7.5 x 45 mm lauvnun:uqndurdriu u.to rrr.1'ln 7.5 x q5 ia6r:ior: tu 6,600.00

159 Spinal Screw Titanium ju M.10 Size 7.5 X 50 mm. lauvnrrn:vqndura'r{u tvt.to ruln 7.5 x so iadurn: 6,600.00

160 Spinat Screw Titanium iu M.1O Size 8.0 X 40 mm hraaaunrrqndura'liu M.to i1rlfl 8.0 X 40 iaiurn: tu 6,600.00

161 Spinal. Screw Titanium iu M.10 Size 8.0 x 45 mm laracorln:cnndu d.riu M.10 tr.l1o 8.0 x q5 iaiurn: ?u 6,600.00

r62 Spinal Screw Titanium M.10 Size 8.0 X 50 mm. tauvoun:rqnduua'r ju u.to iJulo 8.0 x 5o ia6urn'5 tu 6,600.00

r63 Spinat Screw Titanium !u M.10 Size 9.0 X 40 mm lausnrrn:vqnduua"rlu u.to rurn 9.0 X 40 fiaeun: 0u 6,600.00

164 Spina[ Screw Titanium iu M.10 Size 9.0 X 45 mm lavvorun:uqnduraa'liu u.to lluro 9.0 x 45 iaar:Jo: iu 6,600.00

Page 12

150 6,600.00

154

t56



03020008 :cuurrio{fi ori?trsirda uaslauvorrntuqn#uudr

nliu Part Name
r,tr.iruriu

drvq;zrdul

:i61 (:2! vat)

iau ru
tivlurdut

lrulu$t,

t65 Spinat Screw Titanium iu M.1O Size 9.0 X 50 mm Iaravarrn:vqnduudriu u.to ruro 9.0 x 5o ia6orn: iu 6,600.00

166 Locking Nut Titanium iu M.10 Iar.rvorrn:vqnduudruuvdon !u ttl.ro iu 4,200.00

r67 Locking Nut Titanium Hua Det iLl M.lo lal:orln:rqndurad.rullu6anra"r16o {u la. to ?l 4,200.00

168 Rod litanium !u U.to Size 5.75 X 45 mm uvi{ar.rvnunrvqn{uva'.r iu u.to rruln 5.75 x 45 iaaun: 3,600.00

169 Rod Titanium ju l/l.tO Slze 5.75 X 50 mm uvi$aruorun:vqndur.rdr iu u.to rulo 5.75 x 50 iiaaLlrel: LAU 3,600.00

170 Rod Titanium iu M.10 Size 5.75 X 60 mm uvi$awnun:vqnduua'.r iu u.to tulo 5.75 x 60 iaelrrn: 3,600.00

t71 Rod litanium iu la.to Size 5.75 x 70 mm uvi.rlauvnrrn:uqn{uraa'r iu la.to u.l'rn 5.75 x 70 iseunr Lau 4,200.00

172 Rod Ttanium ju tr,l.tO Size 5.75 X 80 mm uvi{auvnrrn:vqnfluua'r iu u.to irulo 5.75 x 80 iaauror tau 4,200.00

173 Rod Titanium !u tr,,l. tO Size 5.75 X 90 mm uvi{aracorrn:unnduraa'r !u u.10 urro 5.75 x 90 iaalrlo: Lau 4,200.00

174 uvi{ararntin:vqndura'.r iu u.ro tlro 5.75 x 100

iaa'uo:
taLt 4,800.00

175 uvi.rlar,rvnun:uqnduxa''r i! M.10 urro 5.75 x 110

iaAurn:
raI 4,800.00

176 Rod 
-l-itanium 

iu u.f O Size 5.75 X 120 mm uvi.rlar.rroun:uqnf,iradr !u la.t0 turo s.75 x 120

ia6un:
tau

177 uvi$auanun:vqndurad! iu M.10 tulo 5.75 X 130

ia6urn:

Lf,U 5,400.00

178 Rod T'itanium iu M.10 Size 5.75 X 1zl0 mm tau 5,400.00

t79 Rod Titanium iu trl.lO Size 6.0 X 45 mm uyirtauvnun:vondur.ra'l iu la.ro fii'ro 6.0 X 45 ladurn: 3,600.00

180 Rod Titanium !r u.ro Size 6.0 X 50 mm. uvi{aravorun:;qnduradl iu u.t0 rruro 6.0 x 50 iaerrlo:

Part Name (nrurhu)

Lau

Lau

Rod litanium {u u.f o Size 5.75 X 100 mm.

Rod Ttanium ju l .tO Size 5.75 X 110 mm.

4,800.00

Rod Titanium iu t','t. tO Size 5.75 X 130 mm.

uvi$aruaun:a6ndurad.: iu M.to ffr1n 5.75 x 140

ia6un:
ta!
Lau 3,600.00

Page 13



03020008
)t'

lvuurrrio{tIod2urJ1d''l ua!16uJe1rln:!8n#uxa-{

aliu Part Name Part Name (ntnlnu) xri2ufu
<duzqvriut

:1h1 (:2r vat)

iovriru
dr4rzrdul

yltlul'tl,

Rod Titanium iu M.10 Size 6.0 X 60 mm uvi{aravnun:vondurad'r !u M.10 l,u1n 6.0 x 60 iaauro:

182 Rod Titanium iu u.rO Size 6.0 X 70 mm uvi{ar4cnrln:confirua"{ du M.10 tulo 6.0 X 70 iaauJnr tau 4,200.00

183 Rod Tltanium !u U.tO Size 6.0 X 80 mm uyi{aycorln:vnnf,uua'': iu M.10 ?u1o 6.0 x 80 iaaun: ra! 4,200.00

184 Rod Tltanium !u tvt.tO Size 6.0 X 90 mm urifa'nunrrn:vqndurad.r iu u.ro rlu1o 6.0 x 90 iaiurn: tau 4,200.00

185 Rod Titanium iu M.1O Size 6.0 x 100 mm uvi aurnrrn:vqndu d,'! iu M.10 iuln 6.0 X 1oo iaerrrn: tau 4,800.00

186 Rod Titanium iu u.tO Size 6.0 x 110 mm uvi{aycnrun:cnnduradr ir u.to rulo 6.0 x 110 iaeuJn: 4,800.00

187 Rod l-itanium iu U.tO Size 6.0 x 120 mm uvi.:Inralorrn:vqnduradr !u u.to l,u'ro 6.0 x 120 fiahuo: rau 4,800.00

188 Rod Titanium iu M.10 Size 6.0 X 130 mm uvi$arvorr:n:vqnf,uuai !u u.to ?u1o 6.0 x 130 iaarror LAU 5,400.00

189 Rod Titanium !u U.f O Size 6.0 X 140 mm uyi{aucnrln:vondur,ra'l iu u.to uuln 6.0 x 140 !ael!n: tau s,400.00

190 Rod 'Iltanium 
!u t'a.tO Size 6.0 x 150 mm. uvi{ar.rvorun:vnndud.: iu M.1o urln 6.0 x 150 fiaauJn: L6U 5,400.00

191, Rod l-itanium iu U.tO Size 6.0 X 160 mm uyi aravnrun:vondura".r iu la.t0 llror 6.0 x 160 iaalrlsr: 6,000.00

192 Rod lltanium ju M.10 Size 6.0 X 170 mm uvi{ar4cnrln:cnndura'.r !u M.1o ltuln 6.0 x 170 iaautor LAU 6,000.00

t93 Rod Titanium iu u.ro Size 6.0 X 180 mm. uyj{ar4corln:cnn{uraa\ !u M.10 nulo 6.0 x 180 iaeun: tau

t94 Rod Titanium ir tr,l.rO Size 6.0 x 190 mm $vi.ilalacorln:yondurad.r !u u.10 tlro 6.0 X 190 iaeurn: tal,i

Rod Titanium !u M.1o Size 6.0 X 200 mm urhlaruonrn:vqndur.rd': !l la.ro turo 6.0 x 200 iaeunr t6u 6,600.00

196 Rod ]ltanium iu M.1O Size 6.0 X 300 mm. uvi{aracnrln:cnn{uxa''! iu M.1O rurn 6.0 X 3oO iaa!!n: ta! 8,000.00

197 Rod Titanium ir u.to Size 6.0 X 400 mm uyi.:Iar4cn n:conduua".t ir M.10 ruln 6.0 X 400 iaaunr 8,000.00

Page 14

181 tar 3,600.00

tau

tau

6,000.00

6,600.00

195

Lau



ATIU Part Name Part Name (nrurlnu) uriruriu

tduzqvrdl)

fli1 (:2! vat)

ion ru
GirYqrzrdu)

u!1ut n

198 Spinat Screw lrtanium !l eoty Axiat Size 3.5 X 8 mm. laravoun:vgnduradluuuri'rvr1uld rulo 3.5 x a ia6urn: {91 13,200.00 t ryr rj:vnotd'u

Poty Axiat Head

r{u
Poty Axiat Pin

r{u
Poty Axial Cover

riu
Poty Axiat

Locking Nut

tiu

199 Spinat krew Titanium iu Poty Axiat Size 3.5 X 10 mm. Iaravoun:vqnduua"ruuurirrarluki $r1o 3.5 x 10 iaaurer: t0r 13,200.00

200 Spinat krew Titanium iu Poty Axiat Size 3.5 X 12 mm. laravoun:ugndura"ruuurirrarluki turn 3.5 x 12 ia6unr t9r 13,200.00

201 spinat Screw lltanium il eoty Axial Size 3.5 X 14 mm Iavvorrn:confluva'ruuuriruuuki luio 3.5 x 14 iaaun: trl r3,200.00

202 Spinal. Screw Titanium ju eoly exiat Size 3.5 X 16 mm lara;orrln:cnnfuva'suuur,r"rvuuld ruio 3.5 x to iaiu:n: 1n 13,200.00

203 Spinal Screw Titanium !u eoty Axiat Size 3.5 X 18 mm taravorun:confuvdluuuv"ruuutoi ruln 3.5 x t8 ia6urn: to 13,200.00

204 SpinaL screw Trtanium !u Poty exiat Size 3.5 X 20 mm Iaravoun:rqndludsuuurirr.rrlutd rrulo 3.5 x 20 iaauln: 1o 13,200.00

205 Spinal. Screw Titanium iu Poty Axia( Size 3.5 X 22 mm lallvnrrn:vqnflura'luurr,t"rlrrluld ruin 3.5 x 22 iaeuJn: t9l

206 Spinat trew'l"itanium !u eoty Axiat Size 3.5 x 24 mm lavcorrrn:conf,uvd.:uurrirrorul6' ruln 3.5 x 2q iaduln: to 13,200.00

207 Spinat krew Tltanium iu eoty Axiat Size 3.5 X 26 mm lar4cor!n:cnnduva'.:uurrhvuln' ruro 3.5 X 26 iahurn: tn 13,200.00

208 Spinal. Screw lltanium !u eoty Ariat Size 3.5 X 28 mm Iaravorr: n::onfluva'.:uurfirra:1u16' rulo 3.5 x 28 nadu:o: to 13,200.O0

?09 Spinat Screw litanium !u Poty Ariat Size 3.5 X 30 mm lavvorun:cnnf,uvd.:uuru"rrauuld ru,o 3.5 x lo fin6u:n: ler 13,200.00

2t0 Spinal krew l']tanium !u eoty Axial. Size 4.0 X 10 mm lavvorr:n:confuvdruurra"rralul6' ruln 4.0 x 10 iaeunr q0r 13,200.00

27t Spinal krew Trtanium iu eoty nxiat Size 4.0 X 12 mm. Iallvou n:vqna'uraa'ruuuri':rqu1d' rulo 4.o x t z r:a6u:n: tu 13,200.00

212 Spinal Screw Trtanium iu Poty Axiat Size 4.0 X 14 mm. Iavvoun:vonf,uuaiuurra'ruuuloi rru'ro 4.0 x 14 iaiuo: 1,) 13,200.00

Spinat Screw Tjtanium il Poty nxlat Size 4.0 X 16 mm lauvorrun:vnnduudruuuriruruki ruln 4.0 x r6 ia6uLo: qo 13,200.00

214 SpinaL krew Tjtanium iu Po[y Axiat Size 4.0 X 18 mm. Iaraorrn:uqndludruuurirrarluld' rurn 4.0 x 18 ia6rrlnr 10 r3,200.00

215 Spinal krew Titanium !u Poty Axiat Size 4.0 X 20 mm. Iaracorlrn:vflndura"ruuur.t'rnlu16' nu"ro 4.0 x 20 ia6urn: 1o 13,200.00

ZIO Spinal Screw T]tanium !u eoty Axiat Slze 4.0 X 22 mm. lavcor!n:vonfuudrquuv'ruuuld ru"rn 4.0 x ez iaiuLn: 1o 13,200.00

217 Spinat krew lrtanium !u Poty Axiat Size 4.0 X 24 mm. qo 13,200.00

Page 15

03020008
)a'

:JUUrR50{n0t?U}rlrntt8J lattsn']!nluln6u a{

13,200.00

laravorrLn:vonduua'.ruuura'rraluki rru1o 4.0 x zq iahun:



03020008

Part Name Part Name (nflrrlvru)
uiruriu

<dryr{yrdul

flflr (r1! vat)

iouriru
tdurpzrdu)

218 Spinat Screw Titanium iu Poty axiat Size 4.5 X 30 mm Iauvorrun:vqnduuaiuuufirrarluloi rxln 4.5 x :o fi aiun: tf) t pr rJ:unoudru

Poty Axiat Head

1tu
Poty Axiat Pin

r i'u

Poty Axiat Cover

riu

279 SpinaL screw lltanium !u Poty Axial Size 4.5 X 35 mm. laucor!n:cnnduva"ruurrfruuuki nulo 4.5 x es rr'a6urn: to 13,200.00

220 SpinaL Screw Titanium !u eoty Axiat Size 4.5 X 40 mm layvorr:n:sonduydruur-rrirraluki rulo 4.5 x qo u'a6usr: to 13,200.00

22t Spinal screw"Titanium ir.r eoty Axiat size 4.5 X 45 mm tayvoun:vona'uraaiuur-rfruruld' rulo 4.5 x 45 iaiuLn: q0)

Spinat Screw lltanium {u eoty Axiat Size 5.5 x 35 mm tavcor!n:vonduva"'ruuurirruuki ruro 5.5 x 35 iaiuLn: wr 13,200.00

223 Spinat screw Trtanium iu eoty Axiat Size 5.5 X 40 mm Iaracorln:vqndu a-lquufirvluld' nurn 5.5 x qo iaiunr vr 13,200.00

224 Spinal Screw lrtanium iu eoty hiat Size 5.5 X 45 mm Iar4corun:vonf,uudluuulirvuutfr' .ttu1n 5.5 x 45 iahun: tu 13,200.00

lt5 Spinat Screw lrtanium iu Poty axiat Size 5.5 X 50 mm lauuoun:rqnduua'luuufirraquld' turn 5.5 x 5o ia6urn: to 13,200.00

226 SFinat Screw Trtanium {u coty Axiat Size 5.5 x 55 mm lar,lsorun:canfuva"suuuv'ruriuld turn 5.5 x ss iadurn: qo 13,200.00

227 Spinat krew lrtanium iu eoty Axiat Size 6.5 x 35 mm laracorun:con{uua".ruurriruuuloi rulfl 6.5 x 3s iladun: q0

SpinaL screw lltanium iu Poty Axiat Size 6.5 X 40 mm lauvorun::qndulln'.:urr-r#rur1uloi rulo 6.5 x qo iaf,un: lfr
229 Spinal. Screw Titanium ju Poty Axiat Size 6.5 X 45 mm Iaravnru n::qndur,ta'.:uur.rrirurluld' rulo 6.5 x q5 ia6uo: 10r t3,200.o0

230 Spina[ Screw Trtanium il.r Poty Axiat SLe 6.5 X 50 mm. Iaucorun:conduudruuurirr,tluld' rulo 6.5 x 50 ia6urn: qn 13,200.00

231 Spinat Screw Titanium !u eoty Axiat Slze 6.5 X 60 mm laravorun:vn nduva'ruur-rr,t'rululd' ruin 6.5 x 60 fi ahruo: tu 13,200.00

232 Spinat krew Titanium iu Poty Axiat SEe 6.5 X 70 mm. Iauvnrr:n:snnduua'rururirraruloi rulo 6.5 x 70 iaaurnr 10 13,200.00

233 Spinat Screw Tltanium !u Poty Axiat Size 6.5 X 80 mm Iar,rcnr!n:ynndu druulrirulul6' ruio 6.5 x 8o ia6usr: vr
234 SpinaL Screw lltanium iu Poty nxiat Size 6.5 X 90 mm laycnrln:vnnf,uua'luurfiruluki urlo 6.5 x 90 iaiurn: ltl 13,200.00

155 Spinal Screw Titanium ju Poty Axiat Size 6.5 X 100

mm.

laurorrn:vq ndurdluuura"'lraluki trln 6.5 x 1o0

ia6un:
wl 13,200.00

)a,
t!uuta5o{!0tizgd1nnuaY Iau!n11lnlstnduua{

nlru $!r1u$t,

13,200.00

13,200.00

13,200.00

13,200.00

13,200.00

Page 16



03020008 rvuuriio{iad?oair#rr rraclarcnrun:vtrn{uudl

Part Name Part Name (nrurlnu) nriruriu

<dvlvrdu)

:1n1 (tt! vat)

'lou!?utfizlvrdul
x!1urrt

236 Spinat Screw Trtanium !r.l Poty Axia[ Size 7.5 X 40 mm. laurnun:rqnduradrurtrfirrarluld' tu10 7.5 x +0 ia6uo: 1o t pr thvnaud:a

Poty A\iat Head

r{u
Poty Axiat Pin

1iu
Poty Axiat Cover

1tu
Poty Axiat Ring

1tu

Spinal. Screw lrtanium iu Poty Axiat Size 7.5 X 45 mm. Iar4cor!n:cn nduua'ruur-rrirlr1u16' tr10 7.5 x 45 iaaNn: i9l 13,200.00

Spinat Screw Trtanium iu Poty Axiat Size 7.5 X 50 mm. lau;nrrn:vnnduva'':uuurirr,rrld6' tulfl 7.5 x 50 iaauitl: 1,r 13,200.00

239 Spinal. Screw lrtanium iu Poty e*at Size 8.0 X 40 mm. Iau;orun:vqndl'udruuufirraquld tulo 8.0 x +o iaiuror': 1er 13,200.00

240 SpinaL Screw lrtanium iu Poty Axiat Size 8.0 X 45 mm. lavlor!n:cnndrlra1luturiruquld' tulo 8.0 x q5 iiaiuror: qo 13,200.00

241 Spinat krew Titanium {u eoty Axial Size 8.0 x 50 mm. lavrorun:vqndulla'.ruuull'rur1uld' turn 8.0 x 50 iaaun: qel

242 SFina[ Screw l-rtanium iu eoty Axiat Size 9.0 X 40 mm. tar,troun:vqnduua'.rururi'lar1u16' rulo 9.0 x 4o iadun: qo

243 spinat Screw lltanium ju eoty nxiat Size e.0 X 45 mm. laracoun:vonduua".:uuufirr,ru1d rulo 9.0 x q5 iadun: to

244 Spinal Screw Titanium it.l Poty Axiat Size 9.0 X 50

mm.

lar,taorrn:rqnduud.ruuuriru4ul6' tulo 9.0 x 50 iadurn: to 13,200.00

245 Spinal. Screw'l'itanium iu Poty Axiat Size 10.0 X 40

mm.

lar,lvou n:v g nduva'r ur-rurirurluki !u1o 1 0. 0 X 40

!aiuLn:

qo 13,200.00

246 Spinat Screw Titanium ir Poty Axiat Size 10.0 X 45

mm.

la 3r'uln:rrlnihtxd.ruuuihxqutn fir1r 10.0 x 45

!aiun:
ttl 13,200.00

Spinat krew Titanium 'iu Poty Axial Size 10.0 x 50

mm.

1auu01!nruEnat!va=.r[u!r1x{u [o 1u10 10.0 X 50

!adurn:
1o 13,200.00

248 qrJn:oidnnr:nn End To End Size 13.5 x 10.5 x 20 mm
. .)

Q{n:nirto1lei0Efln:uqnltlun:{ tilJ1o 13.5 x 10.5 x 20

!a3unl
to 12,000.00

249 q n:oi6nn:vqn End To End C 1 T Size 11.5 x 9 x

17 mm.

qrln:nlr ordoo'on:vqnuuun:.rnrn:vr,lirln:vqnaorYun:vqn

Yl:'t{on lu1fl 11.5 X 9 X tZ !a6uLor:
1er 12,000.00

Page 17

E1'U

13,200.00

237

238

13,200.00

13,200.00

13,200.00

247



03020008 ryuur#o{iiod,ludriauaclafi crtrn:rqndunfii

ririu Part Name
nri'ruriu

rdrvlurdul

:1i1 (t?! vat)

rialrriru

tduzlvr{ul
xrl1st i

250 qrJnr:rridnn:vqn side To Side Size 14 x 9.5 x 18 mm
. .J ;-

qrJn:nirtaririadan:vnnuuudruirriodruirr turn t4 x 9.5

x t8 !a6un:
to

251 qrJ n: nildalciodo n:v q n urud'rlrir.rria d'rudrr turor 15.6 X

10 X 22 iaAu]or
vr 12,000.00

252 Lumbar Cage Titanium Size 18 X 8 mm 0u 18,000.00

253 Lumbar Cage Titanium Size 18 X 10 mm. iaqraBlnrruuilu:r:vr,rlruJd'a.rn:vqnduva'l:vor'utor

rulo 18 X 10 ia6uLn:

tu 18,000.00

254 i6A165un?1!UtnU5,t5Vl,t',t',t{tJao{n:cnnaura.l:30ul,o?

nu10 18 X 12 iaeun:
tu 18,000.00

255 iao165!a?1!ut.ltt:{:!u?1n!ao{n:snnat]xa{l30ut0'l

t1110 18 X 14 iaauro:

iu

256 Crevicat Cage Titanium Size 10 x 10 X 5 mm iaqttli!411!ttll.rt${rvl42lruaonnlcn narua.::3nun0

?u10 10x10x5iaefln:
tu 18,000.00

257 Crevical Cage l'itanium Size 10 X 12 X 5 mm. iaqraiunruriru:r:vr,t' jrtrJdo.rn:vqn#ur,ra'l:c6"uno

l'U]n10x12X5naelln:
1U 18,000.00

Crevical Cage l'ltanium Size 10 X 12 X 6 mm. iaqnirnrrluiru:r:vr,t'irlrJdorn:vgndura'l:vo'tno
1u10 10x12X6iaauJ0:

tl.t 18,000.00

259 iaqua3rnrrrtuiru:r:u,t'jrlJdo.:n:tqndtrua'r:vq'uno

ruin 10X 12XTilaaunt

ill 18,000.00

260 Crevical Cage Titanium Size 14 X 10 X 7 mm. iaqrailaruuilu:r:;uir.:rldaln:lqndura'l:vriuao
nr.r ror l0XTiiaauo:

0u 18,000.00

Page 18

Part Name (nrtnlnu)

12,000.00

qlnr:nidon:;qn Side To side Size 15.6 X 10 X 22 mm.

r"aqnir:nrruu{.ru:.r:vrnirrtldorn:vqnfluua-l:vo"uror

rulo lSxSiahurn:

Lumbar Cage Tltanium Size 18 X 12 mm.

Lumbar Cage Titanium Size 18 X 14 mm. 18,000.00

Crevical Cage'l'ltanium Size 10 X 12 X 7 mm.



03020008
J-,rluur6ta{!ot2u 1nnlt6ct61rci1!n:Ynnau a{

Part Name Part Name (nrurlvru)
nrirs!"u

(iuzqvdu)

:1R1 (t':lr vat)

ciayr.iru

<iuzlvrdll
rll!lUtXrl

261 Crevical Cage Titanium Size 14 X 11 X 5 mm. 1aout5!nl'llJIHt.tu:.l5Ju't'l'!uaann:30nauva{5 Jfl una

1U10 14 X 11X 5 !'aaUJn:

tu 18,000.00

Crevical Cage Titanium Size 14 X 11 X 6 mm lAOLASuft?'.',]l]It?.tLL5't:31,ll2']nUaa rnSJnnAU a{tJ0Una

1,u1o 14 X 11 X 6 iaelrJn:

3r.r 18,000.00

263 Crevical Cage Titanium Size 14 X 11 X 7 mm ia q riun': ru ui.: u:.!:u u'j1.t{ donnr v q n dlua'l:c 6'r.J a o

,,r., ,o * 11 X 7 laaun:
tt.J 18,000.00

264 Crevical Cage I rtanium Size 14 X 12 X 5 mm ,iaqLa:!nzlrut.ltlln:Jx?'l{ua0nn:!ofldut4antuoun0

l'u'tn14X12X5iaarrn:
tu 18,000.00

265 Crevicat Cage Titanium Size 14 X 12 X 6 mm n2aotf, :!n2'luu?J.!Ll:.t:u1421nua0{fl :uonau a.!lvoufl a

rJu'to14X12X6iaaunr
tu 18,000.00

266 Crevical Cage Titanium Size 14 x 12 X 7 mm 160l'a5!n11!Llt.:Ur.15Ul,t?1{UaO{nSVU narran:VnURA

llu'ro 14X 12X 7 !aa!!n:
t1.J 18,000.00

267 Crevical Cage l-itanium Size 14 X 12 X 8 mm tll 18,000.00

268 iao n3r nlr udlu:.r:c1,r'ir ! dorn:c n n dum'l:c riu n a

flulo14X12X9iaeun:
tu 18,000.00

269 Crevicat Cage Titanium Size 15 X 12 X 4 mm. ?40 ra:!o?'1! tt1,tu:1t31,11''r.:ua 0.:n:Jonauua.:5uoun 0

111.t10 15 X 12 X 4 fiaau.tn:

!u 18,000.00

270 Crevical Cage Titanium Size 15 X 12 X 5 mm. l60Ldtrn?''tu ttlt'!LL5.ttvl,t11iua a.ln:Jonaura It Joun a

ru1o15X12X5iaauJnr
tu 18,000.00

271 Crevica[ Cage Titanium Size 15 X 12 X 6 mm. 2ao tarufr?1!untu,5n53'l11nuaa.!nSyonauuan, Joufr a

lru'tn15X12X6iaeu]n:
iu 18,000.00

Page 19

nliu

262

?aoLa5!n?1!ulln[:,t5uv2't{uaa,!nSuonau an:uouna

?,ll1fl 14X 12X8iaautet:

Crevica[ Cage Titanium Size 14 X 12 X 9 mm.



03020008 rsuur#o.!iori?uiirrYauavlaucatrn:vqn#uudl

61iU Part Name Part Name (nrurbu) ur.iruriu

tdvqvrflll

t'ti1 (t'tr vat)

dayriru
(drYr4Yr{u)

272 Crevical Cage lltanium Size 15 X 12 X 7 mm. iaqrBlarrlud.ru:r:rra'jr.:rjdo.:n:vqndur,la".::vduno

,ul, ,r, 12 X 7 lt-aauqr

iu 18,000.00

273 Crevical Cage Titanium Size 15 X 12 X 8 mm iao Lf 5!a?1rn1.rnt.r:314?T{ua0.inlcnnauua,!:cn!no

tu1n15x12xB!-ael!o:
iu

274 Crevicat Cage Titanium Size 15 X 12 X 9 mm. iaErilaruudru:r::u'jrr{doln:vqndur,rdr:so'uaa
,r'tr rrr 12x9laaunl

tu 18,000.00

18,000.00Crevica( Cage Titanium Size 15.5 X 12 X 5 mm. aaqLat!n?1!uIiIl.r:vvl?1{uaa!n:3qndr a.l:coua0

tuln 15.5X 12x 5laatrln:
t1.l

276 Crevical Cage Titanium Size 15.5 X 12 X 6 mm ,60la5!n?''rxLrlNl,r5n:J ?'1.:Ua0{n:s0ndrua{:u0uR0

ru'ro 15.5 X 12 X 6 iaauJn:

8u 18,000.00

271 iaqra3lnrru udlu:.::rr,t'jrlrldarn:vq nduaa'l:sduno

uJrn 15.5X12X7laaunr
tu 18,000.00

278 Crevical Cage Titanium Size 15.5 X 12 X 8 mm. iao La5!fr?'ru [1r.!u:'!:uu?']nuaa{n5vonauua{5v0!n a

nuln 15.5X 12x8iaeluo:
0u 18,000.00

279 iaqra3lnrrluilu:r:vrlruJdorn:vqndua'r:cn'uno
rulo 15.5X 14x6fiaeun:

iu 18,000.00

280 Crevical.Cage Titanium Size 15.5 X 14 X 7 mm. tu 18,000.00

287 Crevical Cage Titanium Size 15.5 X 14 X 8 mm. ifl qtat!n11rlt,tjnll:.:tv14?1{uaoin:unnauua.llcoufl 0

r,r.r1o 15.5 X 14 X I laauJnr

tu 18,000.00

282 Crevical Cage lltanium Size 15.5 X 14 X 9 mm. ifl ql.at!fl 11lJllrnu:.!1vl,n1luaa.!n:cnnauua{:Enuno

1'u10 15.5X 14X9lnaunr
18,000.00

Page 20

ll!1U[!rl

18,000.00

275

Crevkal Cage Titanium Size 15.5 X 12 X 7 mm.

Crevical Cage T]tanium Size 15.5 x 14 X 6 mm.

iaoSaiuall uir u:.::vu'Jr ul daln:u q n dur,ta'i':cdu a o

,r.]rru.rx14x7iaarrJo:



03020008
)a,rsuulfiio{!ot2uirlrtuasta ctl!nlJanduua{

Part Nameali! Part Name (nrurlnu)
!lUUU

tiiryr{azrdul

tlil (t?u vat)

iorniru
tiiuzlazr{u)

UlUrXi

,60 LAi!n1T!Ut.tIt.i:u14',]',1{uao.!n:!0fl Auua,llcouB0

w'rfl 15.9X 12x 5iaefln:
iu 18,000.00

284 Crevical Cage Titanium Size 15.9 X 12 X 6 mm. af ordlLrfrll! [fl .tu:'t:slt.)1.!ua0{n5unnfl uua.:1ufl ufl o

rulo 15.9 X 12 X 6 iaaurn:

tl.J 18,000.00

285 Crevical Cage f itanium Size 15.9 X 12 X 7 mm. aao K:!n?1tJqt.:tt:.t:t14?1.!uaoin:!onaurm,i:uoua0

1u10 15.9 X 12X7laauro:
iu 18,000.00

286 Crevical Cage Titanium Size 15.9 X 12 X 8 mm. iaqlailnrtrudru:.i:vr4i1{ e'o{nrr$nduva'i:cd'rao

nr."rr.,x12x8iaaurnr
tu 18,000.00

287 Crevical Cage Titanium Size 15.9 X t2 x 9 mm 26nLa5!n11rnllSU:niCtt11{UaO.:n:COnaU a'!5UOU6a

trJ1fl 15.9 x 12 x 9 iiaaNn:
tu 18,000.00

288 Crevical Cage Titanium Size 15.9 X 13 X 5.5 mm 1AOl.d5Un2',llJUll,:Utn:! ?T.!UAOnntUfl nAUUA.i:Ufl UnA

rlulo 15.9 X 13 X 5.5 iaalr]nr
tu 18,000.00

289 Crevical Cage Titanium Size 15.9 X 14 x 5 mm 160165!h11![A{U:nl!U11{UaO.!fl 5!nfl allta{:!OUa0

rr1.l10 15.9 X 14 X 5 iaaunr
TU

290 Crevical Cage Titanium Size 15.9 X 14 X 6 mm iao La5!o11lJUt.:Ut.ttcv?'t':!a 0{ n5v0 ndr}!a'::Jnuna

rlJ1o15.9X14X6fiaalllo:
tu 18,000.00

29t Crevicat Cage Tltanium Size 15.9 X 14 X 7 mm. aaol.65!6?lllurs[l!:Ju11.!ua0intcofl au a{5uoua0

llu1n15.9X14x7!aar!n:
t11 18,000.00

292 laoLa:!a?'']lt[u.!u:n:v!l?ltuaatnSunnawlanSca]!R0

lu',ln 15.9 X 14 X 8 !^aeuJ0l:

iu 18,000.00

293 Crevical Cage Titanium Size 15.9 X 14 X 9 mm !1l 18,000.00

Page 21

283 Crevical Cage Titanium Size 15.9 X 12 x 5 mm.

18,000.00

Crevica[ Cage Titanium Size 15.9 X 14 X 8 mm.

iaqrairnruudru:.r:ruirrrJdorn:vgnduua"r:vrr"uno

111lfl15.9X14X9iaaunr



03020008 rruuraio{fi od2uairfrouavlnr,rcmun:;qndfuudl

8',rau Part Name Part Name (nrurhu) nriruriu

tCryr{urdul

flfl1 (:2! vat)

iarriru
tdurludl)

rlurxn

CeNica[ Ptate Size 3.4 X 10 mm. uaiularavnrrn::qnduud'rrirrno ru'rer 3.4 x 10 iadurn: v] 30,000.00 1 qn rJ:unoud'ra

uriu Ptate r {l
Locking Nut 3 du

screw 2 {u

295 uriularunrrn:vqnduudrri:una rtuln 3.4 x 12 iaduo: 30,000.00

296 Cervical Ptate Size 3.45 X 12 mm. qo 30,000.00

297 CeMca[ Ptate Size 3.45 X 14 mm uqiulavvorrn:vnnduua'.:airuno ru'lo 3.45 x 14 iaaurnr 1o

298 Cervical Ptate Size 3.5 x 12 mm udularacor!n:vondur,ra"leiruno rr'ro 3.5 x tz iaa'urn: to

299 uaiulavcnr!n:vnnduva'rdruna rr'ro 3.5 x tq !ahuLn: Efr

300 uaiulavcor!n:vnnfluva'.:drlno rrlo 3.5 x t6 !a6uLn: qo

301 uriular,tcor!n:vnnflrnla'rriruna ruro 4.0 x tz !a6trtn: qer

102 Cervical Ptate Size 4.0 X 14 mm wiular:orrun:vqnflr.ua"rdruno tulo 4.0 x 14 iaa!!n: trl

303 Cervical Ptate Size 4.0 X 16 mm. !rl 30,000.00

304 CeMca[ Ptate Size 5.0 X 12 mm. tn 30,000.00

305 CeMca[ Ptate Size 5.5 X 12 mm. tti 30,000.00

306 Transverse Bar Locking Set !a vn'r!n:cqnduxa.!l'luunstamul to 10,200.00 1qo :snourito

Hook z du

Lockjng Nut 2 {u
Rod 3.0 mm.

t rdu

Page 22

294

Cervical Ptate Size 3.4 X 12 mm. vr
uairlavcorrn:vqndurad.rairuao tuio 3.45 x 12 iaatrl0l:

30,000.00

30,000.00

Cervical Ptate Size 3.5 X 14 mm. 30,000.00

CeMcat Ptate Size 3.5 X 16 mm. 30,000.00

Cervicat Ptate size 4.0 X 12 mm. 30,000.00

30,000.00

wiulauvrrun:uqnduvdreiruno nu, o 4.0 x t6 iaiurn:

udulavcnr!n:canduradrdruno nu'ro 5.0 x 12 iaaL!n:

urhrlauvnrun:rqnduradreiruao tuln 5.5 x tz iahurn:



03020008 :cuu#ariodrulirir uaclau;atrn:vtrn{uudr

n'ltru Part Name Part Name (nru{rs) 14U2uuU

tiiuzlvrdu)

t1m (ti! vat)

iornira
tivlvrdu)

t.l ut!!n

307 artn:nidan:vnn o Fix size 3.4 x 6 mm -)la crl!nt!tnn:![ and:ulrtolnon:ctflno nulo 3.4 X 6

iiaiun:
to 24,000.00 1 1o tJ:;naui"ra

drr:Orirzdu

Locking Nut

z$t
Screw 6 du

308 arln:nidon:ron o Fix Size 3.4 X 8 mm. Iauunrun:vgnn:vluanfl :ucrdordon:ctnno rlu1o 3.4 x 8

a'a6uLor

24,000.00

309 arln:niion:con o Fix Size 3.4 X 10 mm IauvnrrLn:vqnn:ulraani:wrdorqion:c$nna rtu'rn 3.4 x
to iaiun:

to 24,000.00

310 qrJn:nidon:lqnri.rfl :1u sacrat Bar tn 10,000.00 1 qn U:vno!f,iu

uru1du
ruut a t'u

Locklng trlut S du

311 qrJn:nirirut-on:vqnduvdr rniodo uarvet qrjn:nid:ol'o n:vqnduua-s rniorfi o Marvet t1.,1 25,000.00

312
)t

oUn:sitlui-on:vnndural 1fl50{no Bone Biopsy qrJn:nirirao'nn:rqnduraa-.: rnio.rio Bone Biopsy tu 45,000.00

Page 23

tu

qrJn:ni6nn:aqnrirn:'r1.r sacrat Bar


